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Example Double Frequency Power Term. For a
voltage of 10 cos(wt)Volts and a current of
2cos(wt-6)Amps, find the power as a function of time.
Vary the power factor over its range to see if there is

any effect on the power output.

pf := 0.6 0 := acos(pf)
W= 2-7‘(-60-58;@
v(t) := 10-cos(w-t)-V ;;é’
i(t) ;== 2-cos(w-t—0)A w = 376.991 —
sec

p(t) = v(1)-1(H)
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Example Double Frequency Power Term. For a
voltage of 10 cos(wt)Volts and a current of
2cos(wt-6)Amps, find the power as a function of time.
Vary the power factor over its range to see if there is

any effect on the power output.

pf:=1.0 0 := acos(pf)
W= 2-w-60-9€1—
v(t) := 10-cos(w-t)-V ;;5
i(t) :=2-cos(w't—0)-A w = 376.991 —
sec

p(t) = v(H)-1(1)
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Example Double Frequency Power Term. For a
voltage of 10 cos(wt)Volts and a current of
2cos(wt-6)Amps, find the power as a function of time.
Vary the power factor over its range to see if there is
any effect on the power output.

pf =0 0 := acos(pf)
w = 2.70-60. 74
Sec

v(t) ;= 10-cos(w-t)-V
: rad
i(t) ;== 2-cos(w-t—0)-A w = 376.991 —

p(1) = v(1)-i(t) >
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Example Double Frequency Power Term. For a
voltage of 10 cos(wt)Volts and a current of
2cos(wt-0)Amps, find the power as a function of time.
Vary the power factor over its range to see if there is

any effect on the power output.

pf = 0.6 0 = —acos(pf)
W = 2-7T-6O-@
v(t) .= 10-cos(w-t)-V ;aeg
i(t) :=2-cos(w-t—0)-A w = 376.991 —
sec

p(t) == v(D)-i(t)
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AC Power Examples




